No.1

S wy RE top8 FLERE

Bl gk [] piias  EREFHY L—h—=NL THE EX B
BRIl FmkE LB s MO TR RIN—=9 ik plR EH
06/02|%)'RBF (FF) | iRk 1|EB B == 12.9
50m FRPERR
06/02|/NEBF (14) | iRRE 1[#@E ZFEx 1| 10.3 * BBXR 1| 10.4 | 3[;EH 2B 1] 10.7
50m FRBERR FRBEA FREEA
06/02(/NEEF 24F) | RIS 1% A 2| 9.5 hE g 2| 9.7 3(¢m@E k#L 2| 10.2
50m Y11y FAC T I Y11y MAC
06/02|/N% 3 F£ B F |410r8 1L & 3| 17.9 FA B O3 187 (|2|R@ AHM 3| 18.7 |[4|h% W& 3| 19.2 |5(HME A& 3| 19.3 [ 6@ #Ek 3| 19.4 |[7|&E KX 3| 19.7 (7[R EH 3
100m FRPERR Y211y hAC Y11y MAC FRBERR g Hd S FRPERR FHERE FRERE
06/02|/N# 4 B F | iRRE 1|&H# O 4] 17.9 b 4= M 4] 18.7 |[3[ITEK KZE 4| 18.9
100m #4RC Y11y bAC YaIybAC
06/02|/N5 5 £ B F | 4Lk 1B # 5[ 15.5 hE &2 5 15.9 (2|8E 1&&% 5[ 15.9 [[4|AR# RE 5| 16.0 (|5/8F B3 5| 16.3 |[6(#L #A 5| 16.5 [[7[F®EAK XA 5 17.0 |8|F) HE 5
100m Y11y hAC gH3 S lig#H9 Y11y hAC Y11y bAC FERR Y11y bAC Y11y bAC
06/02(/N¢ 6 5B F | Hbris 1|&8 Bk 6| 14.4 FE ZEX 6| 14.4 (3|NA #\L 6| 15.0 |[3|KME 62 6| 15.0 |5(RMA Hix 6| 15.3 6| KA EIZ 6| 15.3 |[7|#K —% 6| 15.7 (8[/NEHFLK 6
100m Y11y bAC Y11y MAC RPIRERE (22 N Y11y MAC Y11y bAC RPIRERF A4 s
06/02|/N# 1 FEBF | iRRE 1[# fZK 1| 4:46.1 B 2 1] 5:07.4
1000m FERE FRBEA
06/02|/h ¢ 2 EBF | iRRE 1R 718 2| 4:24.5 SH i 2| 4:46.7
1000m 20 N Y11y hAC
06/02(/N 3 FEBF | iR 1[4 L& 3| 4:05.8 BEH Hi# 3| 4:08.9(3|HA A 3| 4:13.1 41U B 3| 4:22.1 |5 (#TE KF 3| 4:26.4 |6 |ILT 2% 3| 5:03.8 || 7|¥AE HEHR 3| 5:06.0 | 8[/aAx —#E 3
1000m FRPERE Y11y hAC g#H9 S FRBERR FHBEA FRPERR FREERF g A4 S
06/02|/N# 4 B F | iRRE 1[BEA FZFE 4] 3:40.4 BHFH BD 4] 401.3[3|FE HWZE 4] 4:16.1 [[4[IEK KZE 4| 4:31.1
1000m A RERY #4$RC HBRERS Y11y MAC
06/02(/N# 5 FEBF | R 1[#8@ &% 5| 3:37.9 A¥ RE 5[ 3:44.3 |3[F) HBEE 5| 3:48.6 (|4(hE #EZF 5| 3:58.5 [|5[8;EA K 5| 3:58.7 || 6 |#k Kith 5| 4:24.2
1000m 20 Y11y MAC Y11y FAC (220 N Y11y AC FRPERR
06/02(/N# 6 B F | RBE 1A F2Z 6] 3:32.5 INEARTFR 6| 3:34.2 ||3(NE EL 6 3:34.7 |[4|RA A 6| 3:40.0 [[5|KM {52 6| 3:40.4 6|(KE (= 6] 3:40.7(|7|FK —% 6| 3:43.0(8[12E &N 6
1000m #¥RC (=25 N RMEEA Y11y FAC = N Y11y FAC RPIRERF R PIRERE
06/02|/hFEF R 1|2y kA 58.1 11220 N 1:01.5 [3[>2xTv kB 1:02.5 4|2 v kC 1:11.3 |[ 5 |FREER 7RA 1:11.5 LA g S0P |OP 1:03.6 [ 2w kD |OP 1:13.0)
4x100mR FLH 6| R=H R R 6 BA K 5 HH o4 AHE K13 AN S T fig LA 2
HE HEIX 6 Ky [ 5 SRR ) HE AW 3 Bl A5 ANERT SR 2 2N T T
K HIZ 6 fEH &7 b ARFF RE 5 BA K74 4 PN KH 5 Al P 4 SHOA 2
FiE ER 6 /NEFRFIE 6 /& 5 Sp)ll WEE 5 B kE 3 A HEN . A S 3




No.2

S v iREE top8 FRfRE
Bl gk [] piias  EREFHY L—h—=NL THE EX B
BRIl LRGSR s MO TR RIN—=9 ik plR EH
06/02(/hE&F 24) | R 1|h8 =4 2| 9.2 2/NERER 2( 10.0 (|3|&FH Fid 2| 10.4 (4|=RE 2L 2| 10.4 |[5(LE FE 2| 11.0 [6[FN A& 2| 11.1
50m EPIRERE a3 x Y219 MAC Y119 1A EPIRERE Y21y hAC
06/02|/h % 3 F & F | iRMk 1|BEARZFIE 3| 18.6 [[2[IuAx EF 3| 19.0 | 3|&HE B 3] 20.0 |[4[h@ =EfE 3| 20.1 |[5(#&u mMxE 3| 20.2
100m Y119 HAC FREEAE FREEAK FREEA EPIRERK
06/02|/N% 4 & F | MLRES 1|7% e 4] 16.0 [[2|MK BE 4| 16.9 |[3|AME #XE 4| 17.1 |4|ZB BFR 4| 17.2 ||5|WuA — 4 17.4 (|6(F0EHKDE 4| 17.6 (|7(RE FE 4| 17.8 ||8(5H 5 4| 18.3
100m Y219 HAC oS s EPIRERE Y119 1A EPARERE EFIRERE s s Y117 hAC
8|&=ME MfE 4| 18.3
Y11y +AC
06/02( /M 5 & T [puxm| | 1|AfR %XF 5| 15.0 [2[@E g 5| 15.7 [3[E4 mes s| 16.3 [4[mK ®FE 5| 165 [5\A S 5| 166 [6[Z% BT 5| 16.8 |7|W4R M 5| 17.0 [8[wm e 5| 17.0
100m #4RC a3 s $aTy A EFIRERE EPIRERK Wi S EPIRERK I
06/02|/7 % 6 & F | 4LRES 1A @0 6| 15.0 |[2|#A@ #= 6| 15.2 |3 |HEFE B 6| 15.2 (4[:EZ@ MHE 6| 153 || 5|k % 6| 15.6 |[6(FELSHE 6| 15.7 |[6|FE ME 6| 15.7 [8(E# FiF 6| 16.7
100m 220 Y11y hAC RPRER Y211y MAC Y11y MAC RMFEA RPIRERE Y11y MAC
06/02(/N¢ 2 & F | RIS 1|8 =8 2| 3:20.9 |[2|/MEFER 2| 3:29.0 [|3|AH FiF 2| 3:33.5 (| 4|lsE FE 2| 4:30.8
800m EPIRERE a3 Y21y hAC EFIRERE
06/02|/ 5 3 F & F | iRBk 1|l mx 3] 3:13.6
800m EPIRERE
06/02|/7\% 4 & F | MLRES 1|7% g 4] 3:00.0 [[2|HE FH 4| 3:00.9 [[3|ZA ZFE 4| 3:01.1 |4|1#8K EE 4| 3:07.8|5|KHE #BE 4| 3:18.1(|6(AE PME 4| 3:18.6 |7t —7T& 4| 3:24.5(|8(5H 3 4| 3:32.9
800m Y219 bAC AR Y217 HAC WgH T & EPIRERE WH T S EPIRERK Y219 HAC
06/02(/N 5 & F | iR 1@ EFE 5| 2:52.1 (2| 1UR  48MA 5| 2:53.1 |[3 |42l BE 5| 2:54.9 |4 |#E (8 5| 2:55.1|5|FH:E ZF 5| 3:01.7 || 6|hBas4fE 5[ 3:10.1 | 7{iuAx #k%H 5| 3:13.0 (|8 (h¥ E#H 5| 3:17.2
800m EPIRERE EPIRERE EPAREAS a3 $ fgH g s W s EPARERE RIS
06/02|/N# 6 & F | iRRE 1R il 6] 2:46.7 | 2 | Bl % 6| 2:51.1 [[3[ARUND 6| 2:52.8 |4 |HIR Bt 6| 2:53.3 [|5|F@HHE 6] 2:59.1 |6 |[HE ME 6[ 3:02.0 (|7 (EEMEE 6] 3:02.7 |8 [#EH #EE 6| 3:04.4
800m a3 x Y21y MAC Y119 bAC RFIRERE EPIRERK RPIRERE WgH T $ Y119 bAC
06/02|/NELF R 112y kA 59.9 |2 [RMREEL 1:01.1 | 3 [fLFRCAH T & 1:03.0 (4|2 v kB 1:03.4[[5|axTwy kC 1:05.9 || 6 |FkBEAF B 1:11.8|7(>2xTv kD 1:15.3 |[8|>axTw hE 1:18.5
4x 100nR PHARE 6 Ef BEE 5 H WY 5 Bl RE 6 LI 4 WE B 5 ZH WA 4 FI B 2| 0P
HE R 6 W 6 BE L 5 e % 6 IRODD 6 P ORE 5 TEAZHIRE 3 w HTF 2
Bt TE 6 HEBE 6 BA D 6 BE FIT 6 HE ER 4 WE S 3 NG = EAKT
NE HE W 6 BiEPZEE 6 HEARIBE 6 B Bk 5 W3 6 LI 4 ZH B 2




No.3

S wy RE top8 FLERE
Bl gk [] piias  EREFHY L—h—=NL THE EX B
FAERA FELGENGE B RO TILRRIN— gk EE PR EBA
—_ i %ﬁi— N ot N P . e N Fr e . = . i 4 .
06/02(hE1ERF | RBE 1|ER £ 1] 5:05.7 || 2|A®mEEERE 1| 5:21.0 (3|2 #%F 1] 5:31.6 [|[4(#1A B#E= 1| 5:34.8[|5|@MA& E#HF 1| 5:35.1 6|8k 1] 5:36.1 [ 7[K#x Zth 1] 5:37.3
1500m 0PC b e R 2 R R
06/02(ch222 - 3 B2 | R @ mm 2| 4:37.7(2|x mA 3| 4:46.9 || 3|A% =& 2| 4:48.2 ||4|Kis mim 2| 5:06.0 |5 (mesn sk 3| 5:19.2(6[@E &=& 2| 5:21.1 |7 |®mE mAx 3] 5:27.9
1500m #RC o] e #ERCER I 0PC R
06/02|hZEHF R 11/0Fk #7E| 1] 9:55.0 | 2 |dkiss EE 3(10:06.0( 3 |ZHM@ /N 2(10:10.0( 4 |#2EH E#E 2|10:11.0|(5 |k [FE3 2|10:20.0(( 6 [FHET ¥ith 2|10:26.0(7 (H#H BE 2(10:32.0
3000m 0PC b3 R FE R #ROFR #RCER
06/02| Ptisscan |Hunms BT 47.9 | 2|@iA 48.2 |3 [#kmpA 51.4 | 4|#&eEeRC 51.8 | 5|#k7EB 53.6 | 6 |#kEmEB 55.5 | 7|##@sD 56.3 | 8 |#kFEhE 56. 7
(FFEBF) A 4 2 LIRFERH 2 mA KB 3 R 1 ZH Wi 1 Bakr Bk 1 WA R 2 SR HIBERA 1
4x100mR fwA w3 WP BT 2 EM L% 3 BPE MR 3 IR % 3 WO 1 PEk A 1 M BB 3
PN A L 3 EE g 2 H% KR 3 A il 2 KE BEH 1 K #iZ2 1 fak WA 3
e BE 3 FiH EE 2 i PN qikf eE 2 i B 2 K A1 W A 3 AR g 2
06/02| ch2EBx | RE 1|FkFEH A 2:15.0 || 2 |E) 2:22.6 || 3|FHAFRC 2:26.9 (|4 |FFEHB 2:34.2 || 5 |#FAHE 2:37.4 (|6 |#FEHD 2:471.7
% EE 3 RN 2 faE 1 Bl BE 3 ZH A 1 PR A 1
SWD-R fEk M3 Ui DA diit kR 2 I %3 SR FRERA 1 K #iZe 1
MR HE 2 FE BE 2 M KR 3 K FEHE 2 fak WA 3 i ik 2
BA ki 3 A L 3 B MR 3 gk B 2 Akt T 2 PEEH EH 3
06/02| k47 R V|axamma 3] 2:34.9 [[2]=t sz 1] 2:38.8 |3 [wskinaz 2| 2:44.2 (4|5 =/ 1| 2:45.0[5|ker @ 1] 2:45.8 [[6[simmie 1] 2:47.6 [ 7@ m 1] 2:50.6 8[|k =R 1] 2:52.4
800m o 0PC 53 2| 0PC R I e
06/02|h % F RIS 1AIRU &Y 3| 5:06.8 (|2 [#fecARAArd 3| 5:09.9 (|3 (387 =8 1) 5:27.3 |4iKZEFiR 2| 5:36.1 |5 (FEH HKZFE 2| 5:41.7 (|6 |KME =4k 1| 5:49.4
1500m | R e R 2 R
06,/02 . R 1|ZNG 2:34.7(|2|0PC 2:45.1 | 3 |#AHh 2:46.7
REL AN b-L- ) ,
HA W3 Al FE L fiE HFE 2
SWD-R iR Eik 2 KET W1 BEHOpE 2
FARIZES 3 E# E 1 A fcAs 2
ALY 3 RS 1 S EHR L
06/02| Ftikkir | RE EINED 53.3 | 2[#k@® 57.0 | 3[#kmPA 57.5 | 4|#sehB 1:00.7 |5 |18 1:02.8 [ 6 [#kZHC 1:05.0
(FREZF) WA EE 2 TRNBIE 2 Bt £ 3 KEZEL 2 B 2 EE AT 2
4x100mR Bk W3 EHOBE 2 HHT HI 2 hE EE 2 ADLY 3 BRSO B 2
IR Hik 2 R KE 2 w3 &P 1 fA @1 A BkE 1
FIAKIZEE 3 LABIAE 2 LE 2 E B 1 an BAE 1 WAETIE 1




No.4

S v iREE top8 FRfRE
Bl gk [] piias  EREFHY L—h—=NL THE EX B
BRIl LRGSR s MO TR RIN—=9 ik plR EH
= | WL ] Bk - T Btk - T itk B T etk - ENEEER - T Btk B . wetk - T itk B
06/02| &1 BF R 1T|RF BE 1] 4:26.9 |[2|BEE &t 1] 4:40.3
1500m = oE
06/02( B4 BF | kM 1A% =& 1] 9:41.0
3000m B
06/02|=# BF R FETA 47.1 || 2 |FFA 47.2 | 3 |#=B 47.9
4 100mR WE sk 3| &t |1 |mE Bk 1 2|AH 1
KIE 9 3 R Mk 2 ®HE HEE 1
ANERERR 3 EA B 1 R nBE 2
HEA 3 HA R 1 Wl DT 2
06/02| =Z#EF |RE 1 |#EIB 2:23.1
AL R MR 2
SWD-R e fEE 2
Al 2
A By 1
06/02| &K% F R 1|#&&C 54.2 |2 |F@ET 58.6
4 100mR A EE 1 R R 1
TR R 1 JE WA 2
HE  HilE 2 A Hx 1
FE R 2 B OEE 2
06/02|BF (FiB) | R 1=+ B = 2:05.8 [[2[IRAK K#h 3| 2:12.6 | 3|LH & 2| 2215.9 [[4|AK WK 3| 2:20.8 ||5|#21U HK -»[ 2:24.4 |6 |#aK KE 3| 2:28.5 (| 7|=sF RH -+ 2:29.0 ||8|HRE /Eg 2| 2:29.1
800m [ch 4 1l E] BRIk ] AT e EFIRER S #ERCZX R
06/02| — %5+ R 1|4t BEH = 4:00.7 |2 [#EE EA = 4:16.1 | 3 |#EyREM 3| 4:24.1 (|4|HERT BR 3| 4:27.3 | 5|/hE # 3| 4:27.6 |[6| KA £ 3| 4:27.8 | 7|AEIR FAK 1] 4:30.9 [[8| L% KT -+ 4:32.2
1500m EMWER | x25 | [EMERG | 85 | |[Zwsx EWEA A A EHEA EFIHRER
06/02| —f% 53+ R 1=+ BE#E = 9:11.0 [2[FE KB = 9:51.0 ||3|=3F &BA -+ 10:32.0
3000m EFIHRER HE HERCER
06/02| —peBF | REF 1|ZmELass | 2:18.8 |2 |ZmemAza | 2:23.1
A b=Yb- MHOHE 3 WiE wEk 2
SWD-R R T 3 WA 3
WET AR 3 Kok & 3
FEARORH 3 I PN
06/02| — k=¥ | kB 1|EEREE | 5:08.6
1500m #ERCHER




